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Congruent Triangle Proofs Day 3 (CPCTC)
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  Prove:  
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8. 	In the diagram below, four pairs of triangles are shown.  Congruent corresponding parts are labeled in each pair.
[image: ]
Using only the information given in the diagrams, which pair of triangles can not be proven congruent?
	1)
	A

	2)
	B

	3)
	C

	4)
	D



9.  In the diagram below of [image: ] and [image: ], [image: ], and [image: ].
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To prove that  [image: ] and [image: ] are congruent by SAS, what other information is needed?
	1)
	[image: ]

	2)
	[image: ]

	3)
	[image: ]

	4)
	[image: ]





10.  Which statements could be used to prove that [image: ] and [image: ] are congruent?
	1)
	[image: ]

	2)
	[image: ]

	3)
	[image: ]

	4)
	[image: ]




[bookmark: _GoBack]11.  In [image: ] and [image: ], [image: ] and [image: ].  Write one additional statement that could be used to prove that the two triangles are congruent.  State the method that would be used to prove that the triangles are congruent.
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Given:  LCBF = LTBG
TB bisects TG

Prove: ABJT = ABGT
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Given: PQ .05
TS1038
R is the midpoint of @S

Prove: (P =T
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Given: 21 =2 and DB L AC

Prove by any method: AABD = aCBD
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AF = O
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GE= LD
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AG = OL
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and ZA= 24"
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LA AC = A'C’, and BC = B'C”
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MNCORE
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BA = CR
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Given: PQ =PS
PR bisects £QPS
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